

$$2) 5x^2 + y^2 = 5$$

Differentiate using implicit differentiation

$$10x + 2y \frac{dy}{dx} = 0$$

$$10x + 2y \frac{dy}{dx} = 0$$

$$\frac{2y}{2y} \frac{dy}{dx} = \frac{-10x}{2y}$$

$$\frac{dy}{dx} = \frac{-10 \left(\frac{1}{2}\right)}{2 \left(\frac{\sqrt{15}}{4}\right)}$$

$$\frac{dy}{dx} = \frac{-5}{\sqrt{15}}, \quad \frac{dy}{dx} = \tan \theta$$

$$\theta = \tan^{-1} \left(\frac{-5}{\sqrt{15}} \right)$$

$$\theta = \tan^{-1} \left(\frac{-5}{\sqrt{15}} \right)$$

$$\theta = -52.24$$

Substitute x into equation (i)

$$\left(\frac{\sqrt{15}}{4}\right)^2 + y^2 = 4$$

$$1/4 + y^2 = 4$$

$$y^2 = 4 - 1/4$$

$$y^2 = 16 - 1/4 = y = \frac{\sqrt{15}}{4} = 1.9365$$

3)

$$x^2 + y^2 = 4$$

$$2y + 2x \frac{dy}{dx} = 0$$

$$\frac{dy}{dx} = \frac{-2x}{2y}$$

$$= \frac{-2 \left(\frac{1}{2}\right)}{2 \left(\frac{\sqrt{15}}{4}\right)}$$

$$\frac{dy}{dx} = \frac{-1}{\sqrt{15}}$$

$$\frac{dy}{dx} = \tan \theta$$

$$\theta = \tan^{-1} \left(\frac{-1}{\sqrt{15}} \right) = -14.48$$

MIKE - OSARO NATHAN

18/ENG01/009

ENG 281

~~Mech~~ Petroleum Engineering

$$x^2 + y^2 = 4 \dots\dots (i)$$

$$5x^2 + y^2 = 4 \dots\dots (ii)$$

Solution

$$y^2 = 5(1 - x^2) \dots\dots (iii)$$

Substitute for y^2 in equation (i)

$$x^2 + 5(1 - x^2) = 4$$

$$x^2 + 5 - 5x^2 = 4$$

$$x^2 - 5x^2 = -1$$

$$-4x^2 = -1$$

$$x^2 = \frac{-1}{-4}$$

$$x^2 = 1/4$$

$$x = \sqrt{1/4} = \underline{\underline{1/2}}$$

Substitute $x = 1/2$ into equation (i)

$$(1/2)^2 + y^2 = 4$$

$$1/4 + y^2 = 4$$

$$y^2 = 4 - 1/4$$

$$y^2 = 15/4$$

$$y = \sqrt{15/4}$$

Mike-osaro nathan

18/eng07/009

petroleum Engineering.

$$g(x) = \sqrt{4 - x^2}$$

